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/General Instructions to Candidates : \

® There is a ‘Cool-off time” of 15 minutes in addition to the writing time.

® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.

® Read the instructions carefully.

® (alculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions is also provided.

® (Give equations wherever necessary.

® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART -1

A. Answer any 5 questions from 1 to 9. Each carries 1 score. B x1=5)

1. is the keyword to define a structure.

2. Which operator is used to get the address of a variable in C++ ?

3. The ability of a message or data to be processed in more than one form is called

(a) Polymorphism (b) Encapsulation

(c) Data abstraction (d) Inheritance

4.  Name the data structure that follows FIFO principle.

(a) Stack (b)  Queue
(c) Array (d) Linked List
5. attribute of <OL> tag enables to change the beginning value of the list.

6. Link to a particular section of the same document is called

7. tag is used to include scripting code in an HTML page.

8.  The keyword used to declare a variable in JavaScript is

9.  The dot(.) operator is used for operation in PHP.
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(5x1=5)
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B. Answer all questions from 10 to 13. Each carries 1 score. @4x1=4)

10. CMS stands for

11. A key is set of one or more attributes that can uniquely identify tuples within the
relation.
12.  Abstraction of the database can be viewed as levels.
(a) twolevels (b) fourlevels
(c) onelevel (d) three levels
13. In PHP, a variable name starts with the sign.
PART -11
A. Answer any 2 questions from 14 to 17. Each carries 2 scores. 2x2=4)

14.  Write any two advantages of using object oriented programming over procedure-oriented

programming.

15. List any two operations on data structures.

16.  Write the syntax and use of any two built-in functions used in JavaScript.

17.  What is Cloud Computing ? Write any two advantages of Cloud Computing.
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

Answer any 2 questions from 18 to 20. Each carries 2 scores. 2x2=4)

What is Nested Structure ?

List any four different forms of inheritance.

What is meant by STACK underflow ?

PART - 111

Answer any 3 questions from 21 to 24. Each carries 3 scores. Bx3=9)

Write an algorithm to perform a POP operation in a STACK.

Compare Static and Dynamic Web Pages.

What do you mean by Web Hosting ? Briefly explain shared hosting.

Compare ‘Serial Computing’ and ‘Parallel Computing’.

Answer any 2 questions from 25 to 27. Each carries 3 scores. 2x3=6)

Compare ‘OnKeyDown’ and ‘OnKeyUp’ events of JavaScript.

List and explain any three aggregate functions in SQL.

Write a short note on ‘Cyber Forensics’.

SAY-730 6



B. 18 2y®@3 20 016088 aBO®EHIEI}o Q6ME GaloB iBUBGE DOIMA MNGIH:)d>.
6306IINIM}o AN UGB, 2x2=4)

18, &@mMAUW MV(SH21B af)ANOE3 af)(®) ?

19.  enBaodigadailan age®meslelle MLl AIY® MY 0)alseBud a6 1Q)@:.

20.  QLOBs BREMEABEAQZO af)aMIGI af)TNEM GRAMOAISN)AN® ?

@dWo - II1

A. 21 2)®@3 24 A1HOWBS aBO@ LI MAD GaldBIIBIAN] TMO MGIdh)dh. 3 CILOA
alloo. @x3=9)
21.  80) STACK-@3 POP 60a|c0aH08 MSO®OM3 @000 00 @R@ICUNIBI®0 af) 9.

22, quoglss ©0wmodild AINT CalENdHU3 IOD®A Yo ea Q).

23.  ©a1eni Ga0dUlow) af)M@OGIME MIIRUB af)THIEM DEGUTHNM® ? HaHERAA'

€a00@lot) MoaHlg |20 ailvodle@le9) .

24, ‘nIdl@3 &MU Slonn)o’ ‘ald@RI@3 SHMUNSlovd)o’ @OODD o §alW))d.

B. 25 2)®@3 27 016088 aBo®ERIEIjo 06ME GaloB iBUdEs DOIMAo NGIH:)d>.
83060aMIM)o 3 AVEHIA. 2x3=06)

25. JavaScript-6a3 ‘OnkeyDown’, ‘OnkeyUp’ gD0I03)U8 ®OQO®A 0 62 1Q)ch.

26.  SQL-ee1 ago®meslel) 3 @RUENQ afoWaHMBHUB LllaWea IR allvodl@dlee)s.

27. 96a0enI@ Gand0MIVHIVIOM d)0la] 60) 21010 B)Gla| af)9)®)d.

SAY-730 7 P.T.O.



28.

29.

30.

31.

32.

33.

PART -1V

Answer any 3 questions from 28 to 31. Each carries 4 scores. Bx4=12)

(a) How will you free the allocated memory in C++ ?

(b) Discuss any two reasons for memory leak.

(a) Distinguish between CHAR and VARCHAR datatypes of SQL.

(b)  What is the difference between PRIMARY KEY and UNIQUE Constraints ?

(a) What are the differences between ‘Echo’ and ‘Print’ statements ?

(b) List PHP Core data types.

Define the term e-Governance. List any three benefits of e-Governance.

Answer any 1 question from 32 — 33. Carries 4 scores. (1x4=4)

(a) Classify the following scripting languages into Client side and Server side.

JavaScript, PHP, VBScript, ASP

(b) What is the use of <EMBED> tag in HTML ?

Briefly explain any four applications of Computational Intelligence.
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PART -V

Answer any 2 questions from 34 to 36. Each carries 6 scores.

34. (a)
(b)
(©)

35. (a)

(b)

36. (a)

(b)

(©
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Compare container and empty tags in HTML.
List and explain any four text formatting tags in HTML.

Mention the purpose of ‘src’ attribute in <IMG> tag.

Write the HTML code to create the following list :
(1) RAM

(2) Registers

(3) Mother Board

Explain the HTML tag <table> and its attributes.

List any four advantages of DBMS over conventional file system.

Discuss the following RDBMS terms :
(1)  Tuple
(i)  Cardinality

Explain any two relational algebra operations.
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